Honors Precalculus Name:

Per:

Semester 2 PRACTICE TEST

Use an extra sheet to show work if you run out of room, or the blank last back page.

1. Identify the amplitude and period of each. 2. Sketch the graph for each from Problem 2.
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5. Use the fact that f (x) = cotx = 2= 6. Find the exact value of each in radians.
to explain why the graph has a vertical Sketch a picture if necessary.
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7. Find the height of the lamppost to the nearest 8. Use the fact that cosx = —1/2 and tanx < 0 to
tenth of a foot. I get the other 5 trig values.
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9. Verify the following trig identities.
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10. Solve 2 sinx + v/3 = 0 on the interval [0, 27).
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11. Use a sum and difference formula to find
sin (15°) exactly (no decimals).
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12. Given the angles shown,
find cos(u + v)
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13. Use the figure from Problem 12 to find sin (2u).
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14. Solve the triangle. C
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15. Find the area of the triangle in problem 14 by first
finding the height. h
sin(35) = 353

2 )
A2 b 9.83-sin(38) = 5.6Y
P T S R

A= Sbhs 3 (00) (564) -lZX HE it

16. Find the area of the triangle in problem 14 by
using Heron’s formula along with your prior

results.
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17. Find the length of side A.
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18. Find the measure of angle X.
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19. Giveni =< 4,-5>and ¥ =< 16, —6 >
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20. Sketch in vector v = —2i — 5j and then find the
magnitude and direction of v. 33 . {-2,-5
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21. A plane with an airspeed of 350 mph at a bearing of E 80° N

\%@E encounters wind with a velocity of 60 mph at E 30° N. Find
the resultant (airplane + wind) speed and direction of the two.

g0= 0.8
B =350 Cos iy

2 Py =350 simgo= 3
& Wy = G0cos 30 =52

)\ : oo W (Dosw\go 30
/R

7 = <08 3.3
+ W = {62,357

7w =<NI2.8,334.3)

|3+ WH=A G sy + (33437 '-E‘“.% Mrkz
o= +ur' ()= 72

u

22. Graph the equation (x — 4)% + (y +3)% = 25.
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23. Write the equation for the ellipse shown.

Conver: (2,71 | //%x
Z—L)l)((\/ﬂ)"_‘ Kj
16 9 .




24. List the polar 547z :
coordinates for ZK P\m rectangular coordinates. ) : (2 , g"’/@)
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25. a) Convert point D from problem 24 to

26. Use back substitution to solve.
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27. Get the following to Row Echelon form.
4x +y—-3z=-11
2x—3y+2z=9
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28. Write the following as an augmented matrix and
then use a calculator to get it to RREF to solve it.
4x+y—3z=-11
A" 2x —3y+2z=9
x+y+z=3
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29. Let A and B be the matrices shown. Find the

following:
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30. Find the multiplicative inverse for matrix B from
the prior problem.
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31. In trying to solve the system using inverse
matrices, a student writes the following. Explain
and then correct the error.
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32. Fill in the table below and then state the limit. 33. State the limit using the graph.
x—3 1 i e
fo) = —— \
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34. Let f(x) = xzx_—;_s 35. Use the graph below to answer the following.
a) State what f(3) is. —_— e
£0)= 735 = 5 Lndeined ;
= 3 - 0 nagtune _ X
g, Bs\
b /o N \
___f' @3 7 i \'*.
— . f R 3
b) Simplify to determine l}icl‘_r)13 " / s
| | | | | | | l\l | | |
M | -6 -3 -4 -3 /-2 -1 1 3041 3
"M _— |lm :E ,-'/ -1+ 8‘) |
x93 (xA)w1)  x=3 M2 1 —2r
JdmgG)=3 | Jim 909 ONE
lim g() =5 Jim g(x) = -|
36. Given the function, y 37. Use the limit process to find the derivative of f(x) = —x? + 3x.
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38. Use your result from #37 to find f’(1.5) and interpret what that means (note, the graph on #36 is the graph of
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